
57
00

73
00

25
00

24
00

80
0

10
0

15
50

15
0

36
80

12
0

1575 2400 2475

120 3080 150 1850 120

5200

900
100

900
150

1030
100

900
100

900

1.10

1.08 1.09

1.06 1.07

4,57° = 8%4,57° = 8%

±0,000±0,000

B

C
4,57° = 8%±0,000 4,57° = 8%±0,000 ±0,000±0,000 C

A

±0,000±0,000

±0,000±0,000
A

4,
57

° 
=

 8
%

±0,000

4,
57

° 
=

 8
%

±0,000

4,
57

° 
=

 8
%

±0,000

4,
57

° 
=

 8
%

±0,000

±0,000±0,000

±0,000±0,000

4,
57

° 
=

 8
%

4,
57

° 
=

 8
%

±0,000±0,000

±0,000±0,000

±0,000±0,000

±0,000±0,000

B

±0,000±0,000


